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D A B E F G di d2 t T | J K L M 0
13 [26.44~1514|21.2 | 17 | 31 | 357 | 15 | 24 3 1233[2096| 40 | 3.0 | 14 | 816*1.8| R1/2
20 |33.25~1111| 267 | 20 | 39.5| 456 | 22 | 30 3 | 300 |2644]| 51 35 | 15 | 953+1.8| R3/4
25 |41.91~y11|335 | 22 | 49 | 566 | 27 | 385| 3 |385(33.25| 60 | 40 | 17 [1039%+23| Rl
30 |47.81~1111| 422 | 25 | 58 | 669 | 32 | 445| 3 | 445 [4191| 63 | 50 | 25 [12.70£23| R11/4
40 |59.62~ 1111|487 | 27 | 68 | 785 | 42 | 565| 3 | 565 (4781 | 68 | 50 | 25 [12.70+23| R11/2
50 |75.18~1L11|61.0 | 33 | 85 | 92.0 | 52 | 72 4 7106050 75 | 60 | 26 [1588%23| R2
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0 = A=A>Fv b B, DY ACVE 54 A=AV Fa—7
D A B E F G d1 d2 T | J K L
13 26.44~ 111 14 18.5 17 31 35.7 15 24 3 23.0 18.0 80 5.0
20 33.25~ 14 11 26.7 20 395 45.6 22 30 3 29.5 26.0 90 6.0
25 4191~ 1011 33.0 22 49 56.6 27 38.5 3 38.5 32.0 100 7.0
30 47.81~ 11 11 38.6 25 58 66.9 32 44,5 3 42.0 38.0 110 8.0
40 59.62~ 1L 11 | 487 27 68 78.5 42 56.5 3 53.0 48.0 120 8.0
50 75.18~ 1L 11 61.0 33 85 92.0 52 72 4 71.0 60.0 130 9.0
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50 | 186 | 143 | 100 | 4-19 59.616-11 24 18
65 186 | 150 | 112 | 4-19 75.187-11 24 18
75 | 211 168 | 125 | 4-19 87.887-11 25 19
100 | 238 | 195 | 152 | 4-19 | 113.034-11 25 19
125 | 263 | 220 | 177 | 6-19 | 138.435-11 25 19
150 | 290 | 247 | 204 | 6-19 | 163.836-11 26 20
200 | 342 | 299 | 256 | 8-19 | 214.638-11 27 21
250 | 410 | 360 | 308 | 8-23 | 265.440-11 28 22
300 | 464 | 414 | 362 |10-23 | 316.23-11 31 23
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